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Calculus 1 Test 3 — Summer 2013

SHOW ALL WORK!!! Partial credit will only be given for answers which are partially correct
Be clear and convince me that you understand what is going on. Use equal signs when things are
equal (and don’t use them when things are not equal). Indicate when you have used L'Hopital’s
Rule, as we did in class. If applicable, put your answer in the box pro.vided. Each numbered
problem is worth 10 points. You may use your calculator any way you see fit, but you may not

share calculators!!!
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3,4. You are designing a rectangular poster to contain 50 in? of printing with & 4 in. margin at the

top and bottom and a 2 in. margin at each side. What overall dimensions will minimize the

amount of paper used? Show all steps and confirm that your answer really is a minimum
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5. Use Newton’s method to estimate the one real solution of 23 + 3z + 1 = 0. Start with 2o =10
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6. Solve the initial value problem: z_: =13
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Evaluate f79(2f(x) — 3h(x)) dz.
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8. State the Fundamental Theorem of Calculus (both parts, with hypotheses)
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;: / 10 Find the area of the region enclosed by the curves y = z2* and y = 8z.
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Bonus. If av(f) really is a typical value of the integrable function f(z) on [a,b], then the constant
“"2j function av(f) should have the same integral over [a, b] as f. Does it? That is, does
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